= EL 202448 A BRI NEA:
HEIRREGHL B A3

e | A SHE S k4 SR
7 v5 ° 350kskskkskekekokskokk 2529 1 86
SREE | L 35 0skkskskskkskekskskk 4527 2 85
bt 75 1= T 35 0kskskkskskokokokokk 3023 3 81. 67
FHiBE
2 | R SHE S 44 SR
% 0V = 350skskskskekskekskskskk 1015 1 87. 33
LEHE| B 350skksksksikekskokskk (051 1 2 84. 67
= = 35 0skskskskekskekskskskk 2517 3 84.33
RS
e | A SHE S k4 SR
ORI | B 350%skskskskskokskskkk 351 3 1 83. 67
oK oih = 350skskskskokskekskskoksk 1 512 2 81. 67
G = T 350skskskkkekokokokoksk 1 524 3 77.33
VA Rl 1 350skskskskkskokskskk (0526 4 74. 67
EECE
e | A SHE S k4 SR
PORIEIES = 350kskskskkekokokokoksk 1018 1 87.33
Tk = 35 0kskskskekskekskokk k2516 2 87
b S
e | A SHE S k4 SR
2 FH = 35 0kskskekskskokokokk k4558 1 86. 66
RE R\ 1k T 35 0skskskskokokekskskoksk 202 1 2 84.33
% 7K B = 360kskskskkskekekokokk (0034 3 80
X [ 1 350skskskskkskeksksioksk 1 028 3 80
%= ° 350skkkkkokokokokk (0527 4 79. 66
A
w4 | A S iE 5 44 SR
oK i ° 35 0skskskskekskekskskskk 2029 1 86. 66
i = 350 kkskskskskkokkskk 2530 2 81. 66
X R 1 35 0sksksksikskokskskokok | 524 3 81.33




